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Correction to ‘“Some remarks on weakly compactly generated Banach spaces’,
by W. B. Johnson and J. Lindenstrauss, Israel Journal of Mathematics, Vol. 17,

No. 2, 1974, pp. 219-230.

David Yost has pointed out that the norm constructed for the space U* in part
(e) of example 1 in our paper is not locally uniformly convex. A dual norm on
U* =1, L(I') which has this property is given by

WG 2 W= 1y l+ Ay I+ 1y 1+ 1z )™

To see that ||| || is the dual to a norm on U, let (y,, z.) be a net in the
Il - Il -unit ball which weak* converges to (y,z); we need to check that
Il (3, z) I = 1. The net (y.) in I, must converge coordinatewise to the vector y, so
we can write y, = y .+ y>, where the supports of y, and y? are disjoint for each
fixed a, and ||y — y.[l, = 0. By passing to a subnet, we can assume that (y3,0)
weak™ converges in U*, necessarily to an element of the form (0, z,), and, a
fortiori, (0, z,) weak* converges to (0, z,) =(0,z — z,). This last statement just
means that (z,) converges weakly in L,(I') to z,.

We thus have the following inequalities:

Iy =Ny ally + 1y &l

el =y ol + 1y 21

im fly 2l =1y b
im lyalle =1y llo
” 2, ”12(1*) = linlinf” 2a ”:q(r)-

Moreover — and this is the main point — one has from the form of the duality
between U and U* that

I 21l = liminf || y 2]l
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Therefore,
W 2= 1y o+ Ay I+ 1y B+ 20+ 22 [f0)
=y b+ 1z llew+ Ay I+ Ty I+ ) 22 w)™
= timinf{| yally + [ y2ly + Ayl + [y 2l + 1l 2 o)}
= lim inf [|| (ye za) [l = 1.
Now we check that || || is locally uniformly convex and hence is dual to a

Frechét differentiable norm on U. Suppose that ||| (y. z.) |l =1, I (v, 2) || =1,
and || (y. +, z. + 2) || = 2. It follows that

Uy +y I+ 1ye + y o+l 2a + 2 [F)™ ~

Uyl + 11y I+ 1 2o (o)™ + Ay T+ y I+ 2 o)™

(where “s, ~ ¢,”” means ‘“‘s, — t,”’ —0). That is, in the locally uniformly convex
space (RP LB (), we have

e+ s Yo+ 35 2+ I~ 1Yo > Yoo z) B+ N Ay s 32 2]

which implies that ||y. [, =y [ Il y- =y ,—0, and ||z, — z ||,;»— 0. Hence
also ||y« — y l,— 0, whence ||| (y« =y, z. — z) || = 0. Therefore ||| ||| is locally
uniformly convex.

In conclusion, it should be noted that a similar correction should be made in
example 2, part (b) of our paper.
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